SystemePact SD 160-1250A

MNMoBopoOTHLIe pykoaTky / Rotary handles / AliHanmanel TyTkanap

Systéme
clectric

BHUMAHWE / PLEASE NOTE / ECKEPTY

« Electrical equipment should be
installed, operated, serviced,
and maintained only by
qualifiedpersonnel.

* No responsibility is
assumedby Systeme
Electric for any
consequences arising out
of theuse of this material.

¢ YCTaHOBKa, 3KCrlyaTaLus, PEMOHT 1
obcnyxrBaHne 060pyA0BaHNA AOKHA
BbIMONHATLCSA TONIBKO
KBaNMPULUMPOBaAHHbLIM
3N1eKTPOTEXHNYECKNM MEePCOHANoM.

* KomnaHus Systeme Electric He HeceT
HUKaKOM OTBETCTBEHHOCTW 3a Nt06bIe
BO3MOXHble NOCNeACTBUSA
MCMONb30BaHUAAAHHOW JOKYMEHTaUNN.

OMNACHOCTb / DANGER / KAYIN

* JneKTp XabAblFbIH OpHaTYAbI,
nanaanaHygabl, Kbi3MeT KepceTyai
XoHe TexHVKanblK KbiaMeT
KepceTyai Tek 6inikTi MamaHaap
XYPri3yi kepek.

« Systeme Electric komnaHusChl
oCbl MaTepuangbl arijanaHysaH
TYbIHAAVTBIH Ke3 KenreH canjap
yLiHXayankepLuinik keTepmerigi.

OMNACHOCTb MOPAXXEHWA 3NEKTPUYECKMM
TOKOM, B3PbIBA NI BCMNbILWKW AYTU

* Vicnonb3yiTe noaxoAsiyme cpeacTsa
MHAMBMAYanbHoM3awmnTbl (CN3) n cobnogarnite
TeXHMKy 6e30MnacHoOCT Npu NpoBeAeHNN
3NeKTpoTexXHUYeckmnx pabor.

3710 obopyAoBaHMe JOKEH yCTaHaBAMBaTb

1 obcnyxmBaTb TONbKO

KBaNNULMPOBaHHbIN

3NeKTPOTeXHMYeCKNIA NepcoHan.

Jlo Hauyana paboT CHapy>XW NN BHYTpU
pacnpejennTenbHOro WuTa oTKAYNTe NuTaHune,
nepesejuTe BbIK/lOYaTe/lb B COCTOAHME
«OTKNYeH» — OFF (O).

Bcerpaa nonb3yritecb Hagnexawm npnéopom
VM3MepeHUNst HanpsXXeHWs ANs onpejeneHuns
OTCYTCTBUSIMUTAHMS.

YcTraHoBMTE 3alUTHbIE orpaxaeHuna n 3Hak
onacHoCTw.

YcTaHoBWTe 06paTHO BCe YCTPOICTBA, ABEPLibl U
KPbILLKW Nepej BKAOYEeHNeM NUTaHus
obopysoBaHuS.

Heco6nioaeHme 3TUX NHCTPYKLMIA MoXKeT

npnBecTn KCMepTn nanm cepbesHbIM TpaBMamMm.

HAZARD OF ELECTRIC SHOCK, EXPLOSION
ORARC FLASH

* Apply appropriate personal protective
equipment (PPE) and follow safe
electricalwork practices.

This equipment must only be installed
andserviced by qualified electrical
personnel.

Before working in the switchboard, turn
off the power, turn the switch to the
"off" -position OFF(O).

Always use a properly rated voltage
sensingdevice to confirm power is off.
Install safety barriers and display a
dangersign.

Replace all devices, doors, and covers
before turning on power to this
equipment.

Failure to follow these instructions
willresult in death or serious injury.

NIEKTP TOTrbIHbIH, COKKbICbI, )XAPbI/TY HEMECE
AOFANBIK XXAPbBIJTY KAYINI

* TnicTi eke KopFaHbIC KypanaapbiH (KKK)
KONAAHbIHbI3XAHEe Kayinci3 31eKTpiK XyMbIC
ToxipnbeciH cakTaHbl3.

Byn xabAbIKTbl Tek 6inikTi 31eKTp MamaHAapb!
OpHaTybIXXKaHE KbI3MeT KepceTyi kepek.
KommyTatopga xymbIC icTey angbiHaa 3nekTp
KyaTbIHOLWIPiHi3, ayblCTbIPbIMN-KOCKbILITHI «BLLipy» -
OFF(O) kyiiHe 6ypbIHbI3.

KyaT eLwipyni ekeHiH pacTay yLUiH apKaLllaH
AYPLICHOMUHAaNAbI KepHeYyAi aHbIKTay
KYPbINFLICLIH NaiganaHblHbI3.

Kayincisaik kegeprinepiH opHaTbIHbI3 XaHe
KayinbenriciH kepceTiHi3.

Ocbl )abAblKTbIH KyaTblH kocnac 6ypbiH
6ap/bIKKYPbIIFbINAPAbI, eCikTepai XaHe
KakKnakTapAbl ayblCTbIPbIHbI3.

Byn Hyckaynapabl opbiHAaMay elimMre Hemece aybIp
>KapakaTKa akenepi.

PykoaTkun npsimoro moHTaxa / Direct rotary handles / Tikeneii opHaTy TyTKanapbl

3arnywka
/" Bunt M3x14
MpyxuHHas waiiba @3
LWaii6a @3

SSDRHB1625
(4épHas)

SSDRHY1625
(KpacHo-xénTtas)

SSDRHB6312
(4€pHas)

SSDRHY6312

(KpacHo-xénTtas)
SD630/1250

MpumeyaHue: 013 annapamoe SD160/250, SD630 803MOH#HA YyCMAHOBKA PyKOSMKU 80 PPOHMANLHOM U 6OKOBOM NOMOMNEHUSAX, 015 annapamos SD1250
803MOX}CHA yCMAHOBKA PYyKOSIMKU MO/16KO 80 $pPOHMANLHOM NOAONEHUU

BbIHOCHas noBopoTHas pykosiTka SD160-250 / Extension rotary handle SD160-250 / KawubiKTaFbl 6ypblibic TyTKacbl SD160-250

CoeauHMTENLHAR BTYNKA 2

CogyHnTeNbHas BTyNka 3

1.5N.m

Brnt M4x10
BuHT M3x14

1.5N.m Bunt Mdx16

Biut 4-M5x18

YCT. anemeHt
BEPb WMTE

feparens Pyroamka

©

Bunt Mdx18 " Jamnywra /

Moy waiGa B4
@m LlIait6a B4

SSDERHF15B1625
(4épHasn, PpoHT.)
+ SSDSH331625

SSDERHF15Y1625
(KpaCcH.-XEénT., GPOHT.)
+ SSDSH331625

SSDERHS15B1625
(4épHas, 60k.)
+ SSDSH331625

SD160-250

SSDERHS15Y1625
(KpacH.-xént., 6oK.)
+ SSDSH331625




\

BbIHOCHas NnoBopoTHasA pykosTka SD630-1250 / Extension rotary handle SD630-1250 / KawublikTaFbl 6ypbinbic TYyTKacbl SD630-1250

(1.5Nm IN.m

Bimal 2:0dx10 Bunrel 4sM5x16 Yer. anemeHr
SSDERHF15B6312
(4épHas, poHT.)
+ SSDSH336312
@ - SD630-1250 SSDERHF15Y6312
15N B ax20 B o516 ok waifa 84 Sarnyuea (KPaCH.-XENT., GPOHT.)
Waiita 24 @m + SSDSH336312
COGAVIHVITGJ'IbHaFI BTYNKa SSDERHS15B0630
Yanunwt. wrok 10x10 (4épHas, 60K.)
+ SSDSH331625
1.5N.m SSDERHS15Y0630
(KpacH.-xént., 6oK.)
Bunt M4x12 ¢ komnn, + SSDSH336312

MoHmadic 60koeoli pykossmku

SD630

MpumeyaHue: 315 annapamoe SD1250 803MOXCHA yCMAHOBKA PYKOSSMKU MO/LKO 80 GPOHMANLHO

M NO/I0XeHUU

MonHeIl nepeyeHb MexHUYecKux Xapakmepucmuk
SystemePact SD npusedeH 8 kamasnoze.
MocnedosamensHocme delicmeuli npu
803HUKHOBEHUU HeucnpasHocmeli npusedeHa 8
pykosodcmee no skcnayamayuu. Kamanoa u
pykosodcmeo no skcnayamayuu docmynHel no QR-
KoOy 8 HuUMHel yacmu 0oKymeHma.

WUsrotosutenn

Manufacturer

OHgipywi

Delixi High Tech Industrial Park,
Liu Shi County, Yue Qing City,
Wenzhou, Zhejiang, China

PP-PIS-SPSDH-24

Technical characteristics of SystemePact SD are
listed in the catalog. Sequence of actions in case
of malfunctions is specified in the user guide.
The catalog and the user guide are available by
the QR code at the bottom of the page.

YNONHOMOYEHHbIW NpeACTaBUTeNb U3rOTOBUTENA
[alibiHAayLWbIHbIH YaKineTTi eKini

AO «Cuctam dnekTpuk», 127018, Mocksa,

yn. OsuHues, 4. 12, kopn.1, 3gaHne «A»

+7 (800) 200 64 46

+7 (495) 777 99 90

support@systeme.ru

SystemePact SD mexHuKasblk cunammamanapsiHsIH
mosielk misimi kKamanozma 6epinzeH. Akayaap
mysIHOOFaH Ke30ezi apekemmep misbeai
nalidanaHy xeHiHoe2i HycKaynbIKkma KeamipinzeH.
Kamanoz neH Hyckaynelk 6emmiH memeHai
J#arbiHOA QR kodbl 60LbIHWA KO HcemimOi.

Authorized representative of the
manufacturer

Systeme Electric, 127018, Moscow,
Dvintsev str., 12, bld. 1, sector A
+7 (800) 200 64 46

+7 (495) 777 99 90
support@systeme.ru



